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CONSTITUCIÓN de un ÁTOMO 

 

 

 

 

 

 

 

 

 

 

ESQUEMA ELÉCTRICO BÁSICO  
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1 C =  ________________     e 
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K 
Q (C) =  ________________      

Q (A.h) =  ________________      

N =  ____________________     

W (J) =  __________________ 

P (W) = __________________ 
W (J)= ___________________ 

t (h)= ___________________ 

W (Wh)= _________________ 
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Nodos  

Mallas  

Q (C) =  ________________      Q (A.h) =  ________________      N =  ____________________     

W (J) =  __________________ 

P (W) = __________________ W (J)= ___________________ 

W (Wh)= _________________ 

Carga eléctrica 

Trabajo 

Potencia Energía 

Cantidad de electrones 

Fuente de alimentación 

Interruptor K 

Lámpara L 

Conductores  


